Q1 Read the sentence in the speech bubble and
then write on the lines what it means in English.

Te voudrais deux boules I would like two scoops.of..........

de glace a la framboise, .raspherry.ice cream, please.........
s'il vous plait.

Q2 Unscramble each French sentence and write it on the line.

] ca euro Ca colte un euro dix.

- dix : »

OUte | P,
: voudrais la une ! Je.voudrais une glace ala . . ...
Poje glace _ : .

B faise a FrQiS€. o
: deésirez que | Quest-ce que vous désirez? ...
Povous  qQUlest-ce i T,

ooooooooooooooooooooooooooooooooo

(Now Try These)

une boule de glace = 1,20€ deux boules de glace = 2€

Thomas says, "Je voudrais deux boules de glace a la banane, deux boules de
glace a la menthe et une boule de glace au caramel, s'il vous plait.”

How much will Thomas's ice creams cost altogether?

Work out the combined cost of the ice creams mentioned in Q1 and Q2.

Salut! Unité K — Sortir diner
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